Wkst 1: FTC

$$\int (2+x^{-4}) dx = 2x - \frac{1}{x} + C$$

$$6 = 2x - \frac{1}{x} + C$$

$$7 = 2x - \frac{1}{x}$$

11) a) 
$$\int_{a}^{6} f(x)dx = 5$$
 b) 6.5  
12)  $-\frac{1}{2}(12)(50) + \frac{1}{2}(6)(100) + \frac{1}{2}(12)(100+150)$   
 $-300 +300 + 1500 + 12,000$   
 $= 13,500$   
13)  $\int_{0}^{7} -7e^{-0.3t} + 90 = 67.828^{\circ}$   
14)  $\int_{0}^{7} F'(x)dx = F(2) - F(0)$   
 $\int_{0}^{7} F(x)dx = F(6) - F(2)$   
 $\int_{0}^{7} F'(x)dx = F(6) - F(6)$   
 $\int_{0}^{7} F'(x)dx = F(8) - F(6)$ 

WKS+ #2: FTC

$$\int_{1}^{4} f'(x) dx = F(4) - F(1)$$

$$17 = F(4) - 12$$

$$F(4) = 29$$

$$2 \int_{1}^{5} f(x) dx + \int_{1}^{5} 3 dx = 17$$

2) 
$$2 \int f(x) dx + \int 3 dx = 17$$
  
 $2 \int f(x) dx + \left(3x\right)^{5} = 17$   
 $2 \int f(x) dx + 9 = 17$ 

$$2 \int_{a}^{5} f(x) dx = 8$$

$$2 \int_{a}^{5} f(x) dx = 4$$

$$1000 - \int_{0}^{60} 5 - 5e^{-0.12t} dt$$

4) 
$$\int f(x)dx = F(a) - F(0)$$
 b)  $a(18) + a(a3)$   
 $6a = F(4) - 100$   
 $a) F(a) = 136$  c)  $a(18) + a(23) + a(23)$   
 $a) F(a) = 136$  c)  $a(18) + a(23) + a(23)$   
 $a) F(a) = 136$  c)  $a(18) + a(23) + a(23)$   
 $a) F(a) = 136$  c)  $a(18) + a(23) + a(23)$   
 $a) F(a) = 136$  c)  $a(18) + a(23) + a(23)$ 

5) 
$$\int_{0}^{5} f(x)^{4} \int_{0}^{5} 2 dx$$
  
 $4 + (2x)^{5}$   
 $4 + 10 = 14$ 

b)
$$\int_{2}^{3} f(x+a)dx = F(5) - F(0)$$
= 4

c) 
$$\int_{-5}^{5} f(x) dx = 8$$
even

$$\int_{2}^{2} f(x) dx = 0$$

b) 
$$2(18) + 2(23)$$
  
 $62 = F(4) - 100$   
 $F(4) = 182$   
 $12 = F(6) + 100$   $F(6) = 2$ 

6) a) 
$$2-1=1$$
 b)  $2+(-\lambda)=0$ 
c)  $2+(-\frac{1}{2}(1)(3+\lambda))=2-\frac{5}{2}=-\frac{1}{2}$ 
d)  $2+(-\frac{5}{2})+\frac{1}{2}=0$  e)  $2+(-\frac{5}{2})+\frac{1}{2}+1$ 

$$=1$$
The:
1)  $(0,\lambda),(4,5)$ 

$$5+16-8=13$$

$$5+16-8+\lambda=15$$

$$5|(0,\lambda),(4,5)$$

$$5|(0,\lambda),(4,5,5)$$

$$6|(0,\lambda),(4,5,5)$$

9) 
$$\int_{a \times dx} 4x + \int_{a \times dx} 2 dx = [a] c$$

$$x^{\lambda} \Big|_{1/2}^{1} + 2x \Big|_{5}^{5} = 5 - F(1)$$

$$= (1 - \frac{1}{4}) + (10 - 2)$$

$$\frac{1}{4} + \frac{32}{4} = \frac{35}{4} = \frac{14}{4}$$

$$\int_{a}^{2} f(x) dx = F(1) - F(0)$$

$$= 93 - 105$$

$$= -12^{\circ} F$$
b) 
$$\frac{97 - 99}{8 - 5} = \frac{-2}{3}^{\circ} F/m^{2}m$$

$$\int_{a}^{3} f(x) dx = F(3) - F(0)$$

$$= -12^{\circ} F$$
b) 
$$\int_{a}^{3} f(x) dx = F(1) - F(-a)$$

$$-\frac{1}{4}(a)(4) + \frac{1}{4}(1)(a) = 4 - F(-a)$$

$$-\frac{1}{4}(a)(4) + \frac{1}{4}(1)(a) = 4 - F(-a)$$

$$-3 = 4 - F(-a)$$

$$-3 = 4 - F(-a)$$

$$-3 + (8 - \frac{1}{2}\pi(a)^{3}) = F(5) - F(-a)$$

$$-3 + (8 - \frac{1}{2}\pi(a)^{3}) = F(5) - F(-a)$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

$$-3 + 8 - 2\pi = F(5) - 7$$

Scanned by CamScanner